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g 10.38 | 10.33 | 10.27 | 10.44 | 10.36 | 10.42 | 10.33 | 10.48 | 10.44 | 10.29
1 X

4. X B4
xX=(x, +-+x,)/10=10372Pa-s
5. A KANHSE FEVESE uy

I ST S N RUARH 2 X

=0.068 Pa -s

6. B A E FLVFIE uno

W % %2 5N R HEE Uy, = (10Pa-sx 3%) /3 = 0.173Pa - s M4 1
k, =3

U % BN R W BE Uy, =(0.1%x1Pa-5/°¢)/+/3 = 0.058Pa- s
ik, =3

bRt RS AR IE Uy =u/k =10.342x0.6%/1.73 = 0.036 Pa - s

7. T BRANHISE TE u

u, = \/u‘ +up +up, +uy, =020Pa-s
8. ¥ e AHEL U, (K=2)

I k=2, U=0.20x2=0.40 Pa-s
9. i FE4iit
PEI LR Dy SRR FE W ) o R A o 2E 0. 8Pa » s/40°C, BRI I
U=0.4Pa » s/40°C, /T 0.8Pa » s/40°C, @M TR . AT 5 AN 5 FE VT 5 s 5 3
P A M R
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